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quiz 0



valgrind
valgrind	
  -­‐v	
  -­‐-­‐leak-­‐check=full	
  a.out

Invalid	
  write	
  of	
  size	
  4
	
  	
  	
  at	
  0x804840F:	
  f	
  (memory.c:23)
	
  	
  	
  by	
  0x8048421:	
  main	
  (memory.c:30)

40	
  bytes	
  in	
  1	
  blocks	
  are	
  definitely	
  lost	
  in	
  loss	
  record	
  1	
  of	
  1
	
  	
  	
  at	
  0x4025BDC:	
  malloc	
  (vg_replace_malloc.c:195)
	
  	
  	
  by	
  0x8048405:	
  f	
  (memory.c:22)
	
  	
  	
  by	
  0x8048421:	
  main	
  (memory.c:30)
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typedef	
  struct	
  node
{
	
  	
  	
  	
  int	
  n;
	
  	
  	
  	
  struct	
  node	
  *next;
}
node;
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insert at tail
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insert at head
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insert in middle



  http://cs.calvin.edu/books/c++/ds/1e/

insert in middle
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insert in middle
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remove tail
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remove head
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remove in middle



to be continued...


